rgb —> rgb* and CIE data of a elementary hue circle
according to CIE R1-47:2009 for sSRGB display.,=20%

3 colours of the elementary hues RJGB]ab‘a: 25.4,92.3, 162.2, 271.7]
Code L*y a*y b*a  C*apa hap rgb —> rgbh*

r00j=R 65.6 44.6 21.2 49.4 254 1.000.00 0.0p
0,5(R+N) 58.8 223 10.6 247 254 0.50 0.00 0.0p
0,5(R+W) 80.5 22.3 10.6 247 254 1.000.50 0.5p

j00g=J 86.2 -1.9 478 478 923 1.00 1.00 0.0p
0,5(J+N) 69.1 -0.9 239 239 923 0.50 0.50 0.0p
0,5(J+W) 90.8 -0.9 239 239 923 1.00 1.00 0.5p

g00b=G 87.6 -449 144 47.1 162.1 0.001.000.00
0,5(G+N) 69.8 -224 72 235 1621 0.000.500.00
0,5(G+W) 91.5 -224 72 235 162.1 0.501.000.50

b0Or=8B 70.3 11 -38.5 386 271.7 0.000.001.00
0,5(B+N) 61.1 0.5 -19.2 19.3 271.7 0.000.000.50
0,5(B+W) 82.8 0.5 -19.2 193 271.7 0.500.501.00

5 step equidistant grey scalet* = 52.0, 62.8, 73.7, 84.5, 95.4

Code L% a*, b*a  C*apa hap rgb —> rgb*

n00Ow=N 520 0.0 0.0 0.0 0.0 0.00 0.00 0.0
n025w 62.8 0.0 0.0 0.0 325.1 0.250.250.2!
no50w 73.7 0.0 0.0 0.0 324.7 0.50 0.50 0.5
no75w 845 0.0 0.0 0.0 323.8 0.750.750.7!

nloow=w 954 0.0 0.0 0.0 0.0 1.00 1.00 1.0

KE181-4N, LAB*la6, adapted=not adapted



